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forty fifty
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seventy eighty
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ninety

one hundred
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four hundred
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seven hundred

two hundred
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five hundred
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eight hundred
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tshiann-mng tsit nia phong - se - sann
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Excuse me. this classifier for clothes sweater
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classifier for a suit clothes
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three hundred
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six hundred
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nine hundred
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Tshiann-mng,  tsit nid phong-se-sann gua-tsé tsinn? Tsit nid nhg-pah gdo-tsap-kau.
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Excuse me, how much is this sweater? It costs two hundred and fifty-nine.
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Excuse me, how much is ? It costs
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Siok - gi 15435 (Proverb)
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JT -- guéh, peh --guéh, luan tshing sann.
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It is difficult to decide what to wear in the second and the eighth months of the lunar calendar.
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